
—bComposing in Columns˜ šššThe solution to this problem is
found in inserting three (3) "hard

This is column one of a two column spaces  in   column  two  whenever
document, where each  column is 34 print attributes  are used  in the
characters wide  and justification same line in column one.
is  set to  even,  and spacing  to
one.  The  use of a  bold printing To  create a  "hard space",  press
attribute in the above column will the —bCOMPOSE˜  key, which  is Alt+F1
cause the loss of three (3) spaces and  the spacebar  twice, repeated
in column two when printing. three  times  on  the  IBM  PC  or

lookalike   machines.     As   you
Now press the WINDOW key (F6). notice,   there  are   three  hard

spaces used  in the first  line of
                        this  column,  which maintain  the

proper columnar appearance. 

Once composed, both columns may be
printed to a range or printer.
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